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Q1.

The International Space Station (ISS) is in a low Earth orbit. Astronauts in ISS have an apparent
weight of zero. In order to determine their mass, the astronauts must secure themselves to a
platform which is set into oscillation and moves with simple harmonic motion.

The platform continues to move with simple harmonic motion at the same frequency, but its
amplitude is doubled.

Explain how the maximum kinetic energy of the platform will change.

(Total for question = 2 marks)

Q2.

A capacitor is charged and then discharged through a resistor of resistance R.
As the capacitor discharges, the maximum current is 5 mA and the time for the current to fall to

2.5 mAis 6 s.

The experiment is repeated using the same charging potential difference but a lower value of R.

Select the row of the table that shows possible values of current and time.
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Maximum Time for current
current/ mA to halve/s

L] A 3 4

B 3 8

0 C 7 4

[l D 7 8

(Total for question = 1 mark)

Q3.

A magnet is passed along the axis of a short coil of wire.

An e.m.f. is induced across the ends of the coil.

Which of the following would increase the maximum e.m.f. induced?
[l A decreasing the area of the coil

1 B decreasing the number of turns per metre in the coil

[l € increasing the speed of the magnet

L1 D reversing the polarity of the magnet

(Total for question = 1 mark)
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Q4.
An electron and an alpha particle enter a uniform magnetic field which is acting perpendicular to
their motion. The electron is travelling at four times the velocity of the alpha particle. The force
on the electron is F.

The force on the alpha particle is

LI A F/2
1 B F
[1 € 4F
L1 D 16F
(Total for question = 1 mark)
Q5.

A current-carrying conductor with length / is placed at right angles to a magnetic field with
magnetic flux density B. The graph shows how the force on the wire varies with the current
passing through it.

Force

y

Current

The gradient of the graph is equal to

O A B
[l B Bl
Oc 1
B
O b B
!
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(Total for question = 1 mark)

Q6.
The diagram shows a model used to demonstrate alpha particle scattering. A ball bearing is set

rolling on a wooden track. The track is positioned so that the ball bearing rolls onto a metal sheet
with a curved surface known as a 'hill'.

_wooden track

‘H"\-\. '
~ ball bearing

The diagram shows a vertical cross-section through the hill. The surface is curved so that the
height of a point h on the curved surface is inversely proportional to the distance r from the
centre of the hill.

E?.;

Explain why the hill is suitable as a model for the electric field surrounding the nucleus of an
atom.
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(Total for question = 3 marks)

Q7.

A student connected the output from a source of alternating potential difference (p.d.) to a
series resistor combination.

She connected an oscilloscope across the 150 Q resistor as shown.

1

120Q

N
Y £—|
1 oscilloscope

[ A1)
150 ()
T |

The trace obtained on the oscilloscope is shown below.

(i) Determine the peak p.d. across the 150 Q resistor.

y-sensitivity of oscilloscope = 2.0 V per division
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Peak p.d. across 150 Q resistor = ...

(ii) Calculate the root mean square (r.m.s.) value of the current in the circuit.

F.M.S. VAU Of CUITENE = o

(iii) Calculate the power dissipated in the circuit.

(Total for question = 8 marks)

Q8. Scientists studying anti-matter recently observed the creation of a nucleus of
anti-helium 4, which consists of two anti-protons and two anti-neutrons.

The diagram represents the path of a proton through a magnetic field starting at point X.
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X

Add to the diagram the path of an anti-helium 4 nucleus also starting at point X and initially
travelling at the same velocity as the proton.

Explain any differences between the paths.

(Total for Question = 5 marks)

Q9.

A cyclotron is a particle accelerator which can be used to accelerate protons. The cyclotron
consists of two semicircular electrodes called 'dees'. An alternating potential difference is
applied across the gap between the dees. A uniform magnetic field is applied at right angles to
the plane of the dees.
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- proton source

(i) Complete the diagram to show the path of the protons.

(ii) State the direction of the magnetic field needed in order to produce the path you have
sketched.

(iii) Explain how the kinetic energy of the protons is increased as they follow the path you have
shown.

(iv) Show that the magnetic flux density B of the applied magnetic field is given by

2xfm

e

B =

where fis the frequency of the alternating potential difference, m is the mass of the proton and
e is the charge on the proton.
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(v) In a particular cyclotron B is 1.2 mT.
Calculate the frequency f of the alternating potential difference.

Q1l0.

Protons interact with particles in the upper atmosphere and create new particles. Pions can be
produced from high energy proton collisions.

(i) State why the following reaction is not possible.

p+p-op+p+m

(ii) State one similarity and one difference between the electric field of a proton and the electric
field of a ™.
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Q11.

A circuit consists of a battery of e.m.f. 5 V and negligible internal resistance, a switch, a 100 Q
resistor and an uncharged 50 pF capacitor.

100 82
svo T —— 50pF
1

Describe what happens to the potential difference across the resistor and the potential
difference across the capacitor after the switch is closed.

(Total for question = 4 marks)

Q1l2.

A capacitor of capacitance C is charged to a potential difference V by a power supply.
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The energy stored on the charged capacitor is W.

What would be the energy stored if the potential difference were 2V?

Q13.

SRR

Y

(Total for question = 1 mark)

Which of the following is a property of a uniform electric field?

L1 A
B

[
1 c
[

Q14.

A field that doesn't change over time.

A field that acts equally in all directions.

A field that only produces a force on moving charged particles.
A field that has the same strength at all points.

(Total for question = 1 mark)

A capacitor of capacitance C is discharged through a resistor of resistance R. The initial
discharge current is /.

Which of the following expressions gives the current after a time equal to RC?
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I
Oa 22
[~

(Total for question = 1 mark)

Q15.

A parallel plate capacitor consists of a thin layer of insulator of thickness d between two plates of
conducting material of area A.

msulator

. conducting material

<>
d

The capacitor has a capacitance 0.1 yF and is charged to a p.d. of 100 V by connecting it to an
electrical supply.

The capacitor is then disconnected from the supply and the p.d. between the two plates slowly
decreases. This is because the insulator is not perfect and a small charge can flow through it.

The graph shows how the p.d. varies with time.
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p.d./V

100
90
80
70 1
60
50
40
30
20+

10

0 | | , | | + Time/hours
0 5 10 15 20 25 30

The insulator is a type of plastic and should have a resistivity greater than 10'* Q m.
Deduce whether the plastic used in this capacitor has a resistivity greater than this value.
A=56x103m?

d=0.6x10"°%m
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(Total for question = 5 marks)

Qle6.

A circuit is set up as shown in the diagram. Lamps X and Y are identical.
The coil has a soft iron core. The resistor and the coil have the same resistance.

s

.

The switch is closed and lamp X lights instantly.

Which statement best describes lamp Y after the switch is closed?

[1 A Lights after a delay with a final brightness less than X
[l B Lights after a delay with a final brightness the same as X
[J € Lights instantly with less brightness than X
[l D Lights instantly with the same brightness as X
(Total for question = 1 mark)
Q17.

Two identical table tennis balls, M and N, are attached to non-conducting threads and suspended
from a point P. The balls are each given the same positive charge and they hang as shown in the
diagram. The mass of each ball is 2.7 g.
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|<— 20.6 cm 4>|

(a) Draw a free-body force diagram for ball M, label your diagram with the names of the forces.

(b) (i) Show that the tension in one of the threads is about 3 x 1072 N.

(ii) Show that the electrostatic force between the balls is about 2 x 1072 N.
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(c) State and explain what would have happened if the charge given to ball M was greater than
the charge given to ball N.

Calculate the charge on each ball.

(Total for question = 12 marks)

Q18.
* A simple electric motor consists of a coil that is free to rotate in a magnetic field.

A student connects the motor to an ammeter and a battery.
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The graph shows how the current / in the coil varies with time t. The switch is closed at time T.

I

r t
Explain why the current rises to a maximum then decreases.
Your answer should include a reference to Faraday and Lenz's laws.
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(Total for question = 6 marks)

Q19.

Answer the question with a cross in the box you think is correct (). If you change
your mind about an answer, put a line through the box () and then mark your new
answer with a cross (X).

A wire carries an alternating current of peak value 3 A.

Which of the following is the root-mean-square value of this current?

[ A 15A
0 B 21A
0 € 42A
[l D 9.0A
(Total for question = 1 mark)
Q20. In an experiment to investigate the structure of the atom, a-particles are fired at a

thin metal foil, which causes the a-particles to scatter.

(a) (i) State the direction in which the number of a-particles detected will be a maximum.

(b) Some a-particles are scattered through 180°.

State what this suggests about the structure of the atoms in the metal foil.
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(c) The diagram shows the path of an a-particle passing near to a single nucleus in the metal
foil.

nucleus

path of
g-particle

(i) Name the force that causes the deflection of the a-particle.

(ii) On the diagram, draw an arrow to show the direction of the force acting on the a-particle at
the point where the force is a maximum. Label the force F.

(iii) The foil is replaced by a metal of greater proton number.

Draw the path of an a-particle that has the same initial starting point and velocity as the one
drawn in the diagram.

(Total for Question = 9 marks)

Q21.

The graph shows how the output V from the terminals of a power supply labelled d.c. (direct
current) varies with time t. This type of supply will not allow current to flow backwards through
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it.
ViV
g
5
4
A
0 I | | I [ [ [ |
5 10 15 20 25 30 35 40
t/103s

(a) A student connects a capacitor across the terminals of this power supply in order to try to
produce a constant voltage.

Suggest how this produces a constant voltage.

(b) The student then connects a resistor across the capacitor as shown.

power
supply

The graph shows the variation of the potential difference V across the resistor with time t.
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v/v
g |
G—W
4 -
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0 [ | | I | | | |
5 10 15 20 25 30 35 440
t/103s

Average potential difference = ..o

(ii) Calculate the average current in the resistor.

AVErage CUIMMENE = ...

(iii) Determine the time in each cycle for which the capacitor discharges through the resistor.

Discharge time = ...

(iv) Calculate the charge passing through the resistor during one discharge of the capacitor and
hence determine the capacitance of the capacitor.
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Charge = .o

CapacitanCe = ..
(c) The student wants to produce a potential difference across the same resistor that has less

variation in magnitude.
State, with a reason, what the student could do to achieve this.

(Total for question = 12 marks)

Q22.

A 'Gauss gun' can be made from five ball bearings of equal mass and two magnets, as shown.

Pairs of ball bearings are placed to the right of two strong magnets. A single ball bearing is
released from the left, as shown. The ball bearing is attracted to, and collides with, the first
magnet. This and all subsequent collisions can be assumed to be elastic.

A student set up the apparatus shown to measure the speed of the last ball bearing. The 'Gauss

gun' was placed at the end of a bench, so that the ball bearing left the gun and broke two strips
of metal foil which formed part of an electric circuit.
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two strips of ,f{:l

metal foil I\l—l

Gauss gun H-H'“--H_E_ |
- T 40uF

bench
e b bal-l 5.0kQ
T —
15V

As the ball bearing left the gun, it broke the first foil strip at its centre so that the capacitor
started to discharge. When the ball bearing broke the second foil strip the capacitor discharge
stopped.

(i) Calculate the energy stored in the capacitor when it was fully charged.

Energy stored = ...

(ii) The voltmeter reading halved in the time taken for the ball bearing to travel between the
two foil strips.

Show that the time taken for the ball bearing to travel between the two foil strips was about 0.1

(iii) The two foil strips were 0.50 m apart.

Calculate the horizontal velocity of the ball bearing.
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Horizontal veloCity = ...

(iv) The student positioned the second foil strip with its centre 8.0 cm lower than the centre of
the first foil strip.

Deduce whether the ball bearing broke the second foil strip at its centre.

Assume the ball bearing was travelling horizontally as it broke the first foil strip.

(Total for question = 8 marks)

Q23.
Some liquids conduct electricity. This property can be used to pump these liquids through pipes.

A short section of a rectangular pipe containing a liquid is shown in the diagram. The pipe is
placed in a magnetic field of flux density B and a current / is passed through the liquid as shown.

B

Add an arrow to the diagram above to show the direction in which the liquid will move.

(Total for question = 1 mark)
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Q24.

At the end of the 19" century, J.J. Thompson used electric and magnetic fields to deflect beams
of charged particles. A photograph of his apparatus is shown.

electron source : evacuated tube

© Science Musenm London

Electrons were accelerated through a potential difference to produce a beam of high-energy
electrons. The beam was then deflected in perpendicular directions by the magnetic and electric
fields. The final position of the beam on the screen was determined by the charge and mass of

the electrons.

Explain how electrons from the source become a beam of high-energy electrons.

(Total for question = 2 marks)

Q25.

A conductor of length 50 mm carries a current of 3.0 A at 302 to a magnetic field of magnetic
flux density 0.40 T.

The magnitude of the magnetic force acting on the conductor is
[l A 0.030N
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[l B 0.050N

[l € 30N
[l D 52N

(Total for question = 1 mark)
Q26.

A length of current-carrying wire is placed at right angles to a uniform magnetic field of flux
density B. When the current in the wire is | the force acting on the wire is F.

What is the force when the flux density is increased to 2B and the current reduced to 0.25/?

L1 A 8F
L1 B 2F
LJ € F2
[1 D F/4
(Total for question = 1 mark)
Q27.

A unit for magnetic flux is the

L] A Wb
0B Wbm?
[l c T
D Tm™
(Total for question = 1 mark)
Q28.

Electric field strength can have the unit of
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I A Vm
0B vct
[T € Nm!
[0 b NC
(Total for question = 1 mark)
Q29.

Show that the unit of magnetic flux density (Tesla) in Sl base units is kg A™* s72,

(Total for question = 2 marks)

Q30.

Two small spheres L and M are attached to non-conducting threads and suspended from a point
P. Each sphere is given an equal positive charge of 4.0 x 10~’ C. The spheres hang in
equilibrium as shown in the diagram.

The mass of each sphere is 2.7 g.
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25em

By considering the forces acting on one of the spheres, calculate the tension in the thread and
the angle 6.

=] 1T o) o T

B =

Mark Scheme

Q1.
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gﬁi}jg: Acceptable Answer Additional Guidance Mark
An explanation that makes reference
to the following:
s E= %rm*z and vy, = (D ,
znf-"-max
¢ Max kinetic energy is (1)
quadrupled
Q2.
Question s , ;
Acceptable Answer Additional guidance Mark
Number
C 7,4 (1)
Q3.
Question s , E
Acceptable Answer Additional guidance Mark
Number
C increasing the speed of the
magnet (1)
Q4.
Question o , ;
Acceptable Answer Additional guidance Mark
Number
A F/2 (1)
Q5.
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uestion f ,
Q Acceptable Answer Additional guidance Mark
Number
B Bl (1)
Q6.
Ou“ﬁm.l Acceptable answers Additional guidance Mark
Number
+ The curved surface is (analogous
to) a radial field (1)
* (ashao I,fr then) potential (energy) 1
o 1, @
 compares with I o 1/, around a
point charge (1 P
Q7.
‘%ﬁ:‘:? Acceptable Answer Additional Guidance Mark
(1) Use of y-sensitivity value (1) | Example of calculation: 2
Va=40V @ |Vp=2%x20V=40V
(ii) o Useofl =2~ (1) | Example of calculation 3
B 40V
o Useof I, =5 " Iy = 500 0.0267 A
— ¥ 0.0267 A
D] use Ofl’;—ms = T% jmu — ‘f— =0.0189 A
e [ _.=0019A ECF (1) 2
fromi1)
(1it) . _ (1) 3
* UseofR=R, +R, Example of calculation:
] =2 -l
. LseofPl I“R (or other valid (1) R=1500+ 1200 = 270 0
power equation)
. . P=1IR
e P=0096W ECFfrom@)and @D | (0.019 A)?
(1) X 270 0 = 0.0964 A
Q8.
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Question
Number

Answer

Mark

Diagram:
Path curves m opposite sense

With a greater radius of curvature

[For Mp2 drawn line must start at X , upwards at less than 45°
to vertical and go above printed line. Look at curvature close to
X. do not penalise if later it curves more/less.]

¥

N

Explanation: (these marks are independent of the diagram)
(Antihelium) has opposite charge (to proton)

Or reference to proton +ve and antihelinm -ve

See r = p/BQ

r 1s doubled Or p/Q is doubled

[equation may appear near diagram. |

(1)
(1)

(1)
(1)
(1)

n

Total for gquestion

Q9.
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Question | Answer Mark
Number
(1) Outward spiral from centre m erther direction, munimum of two complete
loops ) 1
(ii) | Direction consistent with diagram-
Clockwise path, field out of page
Anticlockwise path. field into page (1) 1
(1) | Electric field/p.d. between dees causes (resultant) force/acceleration (1)
Proton makes half a revolution in half a cycle of the a.c.
Or facing dee (always) negative when proton reaches gap.
Or whenever the proton gets to a gap. the p.d. has reversed (1)
k.2 /speed (onlyincreases each time the proton crosses the gap
Or work done by the field i the gap increases the k.e. (1) 3
(iv) | Bev=smv'/r Or » =p/Be (1)
v =2mwT (1)
T=1/ (seeing = v/(2nr) scores MP2 & 3) (1)
Or
Bev = mres” (1)
V= re (1)
e = 2af (seeing v =2mf scores MP2 & 3) (1) 3
(v) | Use of B= 2nfin/e with mass of proton (D
=18 = 10" Hz @) 2
Example of calculation
f=eB/ 2mm )
F=16*x10°Cx=x12 =107 Ty 2rn * 1.67 = 107 "kg)
f=18 x10*Hz
Q10.
%’ﬁ_ﬁg:: Acceptable Answer Additional guidance Mark
(i) | charge not conserved (1)
Question L .
Number Acceptable Answer Additional guidance | Mark
(ii) | « both radial fields
OR (1)
the magnitude of the
fields is the same (at a
given distance)
« different directions (1)
(2)
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Ql1.
Question ) - .
Number Acceptable answers Additional guidance Mark
* p.d. across capacitor mereases Or (1)
p.d. across resistor decreases
* p.d. across capaciior mcreases to 5V O
* p.d. across resistor starts at 5V and (1) 4
reduces to OV
_ (1)
+ Exponentially
Q1l2.
Question Acceptable answer Additional guid Mark
Number Acceptable answers £ onal guidance Mar
I . 417 1
Duses W= 3 CF~s01fV 1s doubled W 15 4
A divides the energy by 4 (rather than multiply)
B forgets to square the potential difference and divides
C forgets to square the potential difference
Q13.
Question | Answer Mark
Number
| D 1|
Q14.
Q'u ES[‘]O]II Acceptable answers Additional guidance Mark
Number
A 1
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Q15.
Question Acceptable answers Additional guidance Mark
Number
e Use of InV = InV, — % (1) . 5
Or Draws mitial tangent to Example of calculation:
curve and uses T =RC 20 %3600 s
. In6 = In100 —
or o= R x 0.1 x 10-5(s)
Determines ¢t when ¥ has R=26x1010
decreased to approx. 37%
_ 11 £X06x107°m
e Conversion hours to seconds (1) 26x107°0 = 56 % 10-2 m2
» (Calculates resistance in range (1 Resistivity = 2.4 x 105Qm
24x 10" t02.8 x 10 (Q)
Using T = RC
7%x36005=0.1x10"*F xR
R=25x101Q (allow T in
e Useof R =pl/4 (1) range 7 — 8 hour)
e Resistivity in range 2.2 x10° Q (1)
t02.6x10°Qm  so
yes above 104Q m
Q16.
Question Acceptable answers Additional guidance Mark
Number ) P ) s 3
B The induced emf in the coil will oppose the cell Lights after a 1
emf and cause a delay in the current to lamp ¥ delay with 2
final brightness
the same as X
A assumes the resistance of the coil 15 more than
the resistor
C 1gnores the magnetic effect of the coil and
assumes the resistance of the coil 15 more than the
resistor
D 1gnores the magnetic effect of the coil
Q1l7.
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Question Answer Mark
Number
(a) WeightW/mg vertically down

Tension/T parallel to thread and pointing away
Electrical {(force) horizontal to left

Accept electrostatic (foree). repulsive (force). coulomb (force)
repelling (force). Do not accept just F or drag

All three correct 2 marks
Any two correct 1 mark 2

The lines must start on the ball and have arrow heads to indicate
direction.

Minus 1 mark for each extra force line.

(Candidates who draw forces on M correctly but also include forces
on N score 1)

(b)(i) Use of T cos 35°=mg Or T sin 55° =mg (1)
g to kg and = 9.81 . (1)
Tension=3.2 = 10 (N) (1) 3

Example of caleculation

T cos 35° = mg

T=(27=10" kg x 9.81 ng'l} cos 35°
T=00323N

(b)(ii)
Equates electric foree to T sin 35° Or T cos 35° Or W tan 35°
Or use of pythagoras (1)
Fe=0.018 Or 0.019 (N) ) P
(FE=0.017 N if show that value used. ecf T from (1)

Example of calculation
Fr=0.032 x sin 35°
Fp=0018N

(b)(iii) Use of F= O /4neor- Or F=kQ°/r (ecf value of F from (ii) (1)
conversion cm to m (1)
P=(29-3.1)x10"C (1) 3
(candidates who half the value of r can score the first 2 marks)

Example of caleulation

0’ =Fr'lk

Q" =(0.020 N)x (20.6 x 107 m)*/(8.99 » 10° N m’ C7)
0=307x10"C

() Both balls would move through the same angle/distance
Or the balls are suspended at equal angles (to the vertical) (1)

(Because) the force on both balls 1s the same (1) 2

Q18.
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Question | Acceptable Answers Additional Gudance Mark
Number
* ]
This questmn_assesses a Ic IC Max Max
student’s ability to show a . . .
coherent and logically structured points | mark | linkage | final
answer with linkages and fully- mark | mark
sustained reasoning. available
6 4 2 6
Marks are awarded for indicative 5 3 5 5
content and for how the answer
is structured and shows lines of 4 3 1 4
reasoning. 3 2 1 3
The following table shows how 2 2 0 2
the marks should be awarded for 1 1 0 1
indicative content. 0 0 0 0
Indicative content:
o  (Maximum/Tmtial) current 1s equal
to battery emf divaded by R
Or current as switch closed
Or current as complete circuat
Or current due to battery
Coil rotates
* (movement of) coil “cuts/changes”
(magnetic) flux (linkage) / field
e  Which induces an emf (according
to Faraday’s law)
* Opposes ongmal emf/current
according to Lenz's law
Or current reduced as effect
opposes change
o  The faster the coil rotates the ic3 needs a link to coil moving
larger this (back) emffeffect the icd depends on 1c3
smaller the current
Q1lo.
{%uesnun Acceptable answers Additional guidance Mark
Number =
The only correct answer is B 21A 1

A is not correct because it is 3 divided
by 2

C is not correct because it is 3 x root 2
D is not correct because it is 3°
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Q20.
Question Answer Mark
Number
(a)(i) Straight through. zero deflection. direction fired in.
(Do not accept 'through' or “directly behind’ on its own) (1) 1
(a)(ii) (Atom consists) mainly/mostly of empty space
Or
Volume of atom very much greater than volume of nucleus. (1) 1
{do not credit if part of a list)
(b) Most of the mass is in the nucleus/centre (1)
[it is not enough to say that the nucleus is dense/concentrated.
Looking for idea that nearly all of the atom's mass 1s in the
nucleus]
Nucleus/centre 1s charged (1) 2
[1gnore references to the charge being positive. Just saying the
nuecleus is positive does not get the mark. ]
(c)(i) E Electrostatic/electromagnetic/electric/coulomb (1) 1
(c)(ii) Arrow starting on the path at closest point to the nucleus (1)
Arrow pomtmg radially away from nucleus (1) 2
(correct direction starting on the nucleus scores 2° mark only)
(c)(iii) Deflection starts earlier (1)
Final deflection 1s greater (1) 2
(paths should diverge)
Total for question 0
Q21.
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Question | Answer Mark
Number
(a) The capacitor stores charge Or capacitor charges from the supply (1)
The 1dea that the capacitor doesn't fully discharge before being recharged. (1) 2
(b)(1) (64+44)/2=54V (1) 1
(b)) | Useof F=1IR ) ) (1)
Average J=34 V/(2.2 = 10°Q) =2.5= 107" A ecf value form (b)(1) (1) 2
(b)(m) | Time =17 ms or 17.5 ms (1) 1
(b)(iv) | Use of Q =t (1
Useof C =07 (1
Use of AV=20V (1)
C' = 21 pF (ecfvalues of [ and ¢ from above) (1) 4
Example of cplcularion . )
Q=2510"Ax17=1075s=425%x10"C
C=425=107C/20V
C=21pF
(c) Uses a larger capacitance (1)
Because a larger fime constant 1s needed
Or stores more charge
Or less AV=AQ/C (1) 2
Total for question 12
Q22.
Question | Acceptable Answers Additional guidance Mark
Marks
i o Useof jp_leygm (1) | Example of calculation 2
- o W:lmprxu.ﬁ V)*
o W= 45 2
W= 45
Alt:
Use O = CVthen £= QF/2 for MP1
ii ¢ Useof V=V, o (1) | Example of calculation 2
* Time =0.14(s) a N5=g" 5000:401 075
In05=-t/02
f=014s
iii Show that value gives 3.0 ms?! 2
Use of speed =4t (1) | Example of calculation
Speed = 3.6 ms™ (1) | v=0.5m/0.14s
=3.6 ms?
Allow ecf from
iv at?® (1) | Show that value gives 0.049 m 2
* useof 5— - Example of calculation
* s=9%cm 1 9.81 ms—2 x0.142
+ comment that foil is not broken at @ s= % =009 m
its centre (conunent consistent with
calculation)
Allow ecf from 1
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Q23.
Question ) " :
Number Acceptable answers Additional guidance Mark
Directi t of (1) | The amrow needs to be parallel to the 1
ECHon Ot oT page length of the pipe by eve.
Q24.
2::::? Acceptable Answer Additional Guidance Mark
An explanation that makes reference
to the following points:
¢ The potential difference creates
an electric field a
¢ An (eleciric) field/force does )
work on the electrons
(increasing their kinetic energy)
Or an (electric) field/force
accelerates the electrons
(increasing their velocity) 1) 2
Q25.
Question | Answer Mark
Number
| A 1|
Q26.
Question | Answer Mark
Number
C 1

Page 40 of 42



www.quantumyvisionacademy.com

Q27.
Question | Answer Mark
Number
| A 1|
Q28.
Question | Answer Mark
Number
D 1
Q29.
Question ... .
Acceptable answers Additional guidance | Mark
number
¢ Use of F'= Bl or use of F=Bgv (1) Example
e Converts N to kg m s2 (1) _ Flkgm 577
~I[A] I[m]
So units are kg Al 52 2
Q30.
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Question | Answer Mark
Number
Use of Fe== k0102 (1)
Use of W =myg (1)
Resolve vertically Tcos @ = mg and Resolve honizontally Tsin 8 = Fg (1)
Attempt to combine components to give tan & (tan & = Fg/mg) 1)
f=41°to 42° (1)
T=0035N (1)
Or
Use of Fg= k0,0:/r" @)
Use of W =mg (1)
Use of Pythagoras to find tension force (1)
Tan #=Fg/mg Or cos @ =mg /T Or sin 8 = Fg/T (1)
f=41°to 42° (1)
T=0035N (1) 6

{if they halve the separation or halve the electric force thev can still get
MP1 and so could score MP1.2. 3 & 4)

Example of calculation
Weight of sphere = 00027 kg x 981 Nkg
Electric force Fe=k0,0-7" )
=899 x10°Nm’ C % (40x 107 C)*/02¥ m°=0.023 N
Vertically T cos € =mg
Horizontally T sin 6= Fg
Tan 8=Fg/mg=0023 N/ 0026 N
g=41°
sub mto vertical equation
I'=mg/cos §=0.026 N /cos 41
I'=0034N

'=0.026N
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